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Directions (1-5): fe=iTaf@d srer # fafdest 21t garr Affiest a¥ & ¢odde & Sid e
Uceh] T TEAT 3TI9T-3719T &2ily aRfY &

India Australia England Sri Lanka
2000 75 100 100 25
2004 125 75 175 50
2008 125 75 125 125
2012 150 25 75 175

Q1. HRA &aRT ST 37 3 d g 3ieeforar ganrt sha a1v 3iad 9gs 8 fordar 3ifae
[F &7

(a) 20

(b) 50

(c) 30

(d) 35

(e) 25.5
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Q2. ¥R €@RT 2000,2004 3R 2008 H S IV FeT Teeh, $Iels GART 2004 3R 2008 H S

91T el TGeh ST ST Fehctell FlArcTe?
(a) 102

(b) 108

(c) 114

(d) 119

(e) 130
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Q3.2000,2004 31X 2008 # HECTAIT G@RT Sict ITT Fel Uesh 3R 2008 3R 2012 H SAefehr

EaRT SN ITT FeT Tereh T eI FT 87
(a) 5:6

(b) 7:6

(c) 8:7

(d) 4:3

(e) 3:4
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Q4.aY 2008 # f&T 7T Fel Ueeh, a¥ 2000 # T T Yesh H foheTalr FfreT 3Hieh/Ha 82
(@) 75 %

(b) 40 %

(c) 30 %

(d)50 %

(e) 25 %
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Q5. @lT 4 At & AT 7T Fel Yeh Tohelet 87
(a) 1400

(b) 1425

(c) 1600

(d) 1525

(e) 1475
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Directions (6-10):Y 31$ TRON &, faT 77 aut & U AT A 1ok 3T AT T Fear & =T &1
fAFfafEd arufl &1 3reaasT Hifav 3R Hefaf@d gt & 3T i

ARON A F8 31T o 8 | 99T H & Il SIehrY o 38R, 4T 1T geat & 3o &t o fow
e, oT 33T T ITAIHAT &1, AT 3 ol ST FH AT AT




Year Total number of | Percentage of valid | Respective ratio of
votes votes valid votes of A and
valid votes of B

2013 1000 40%

2014 2500 50% -
2015 500 - 7:4
2016 - 75% 8:5
2017 - 3:3

AN :-Frol Hl= FUHA+ AT AT
el Y Hl= A dY A+ BH I AT

Q6.201saﬁr§mﬁ2018ﬁ§maﬁaﬁrﬁwﬁ40%aﬁrqaﬁ§g'%aﬁﬁmzo%ah

3der g1 A 2018 H I AT hr FE&AT AT HTATI
(a) 224

(b) 896

(c) 1024

(d) 908

(e) 696
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Q7. afe a¥ 2014 3R 2016 # &1 FHd S HHT TEAT 1000 & | F 2016 H STY 1T FHol FHAl

T &A1 AT AT
(a) 1250

(b) 1750

(c) 1000

(d) 750

(e) 1500
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Q8.2014 H A% I Hcil ! HEAT I B & G Hcll bl HEIT I 3e]dTT T 1T, Ife; B & dE

AT T T&ATsH a¥ 7 650 2Ar?
(a) 12:25

(b)13:12

(c) 13:25

(d)12:13

(e)11:13
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Q9. afe a¥ 2015 H, STel 1T el HA HT 55% L ¢, ol 3 a¥ A A 3N Boh a8 Adl & &
3T AT S|

(a) 240

(b) 150

(c) 180

(d)9o

(e) 120
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Q10.2016 H, AR B I AT I T&AT & &I I 3T 225 AT| dF 2016 H 3Tel IrTaTch
ol TEAT fehetalt A7

(a) 1500

(b) 1300

(c) 1700

(d) 900

(e) 1100
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Directions (11-15): o7& ARON, Tg 3c9-37l9T s H TCS HUT H FHH el drol
HAUMNAT T Hel TEAT IR TS T AR A 30T T ATl &1 TRON 7 3eTgeT
AT IR 38 d1¢ T2 & 39X QfAT|



Years Total number of Men: Woman
employees

2011 8,00,000 7:3

2012 8,50,000 11: 6

2013 9,54,500 3:2

2014 9,80,500 11:9

2015 8,65,000 13:12

2016 9,25,000 1:1

Q11.a¥ 2011 3R 2015 F ATgeT HAATRAT ST AT TE&IT AT IV
(a) 3,27,600

(b) 3,80,400

(c) 4,26,500

(d) 4,56,500

(e) 5,20,500
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Q12.dY 2012 3iX 2014 & AR FYT F F1H F aTel AfgelT HHATRAT HT FEIT, a9

2011 % el HEAUTRET T SIS fohcTall TTcTere 87
(a) 81 %

(b) 99%

() 93%

(d) 108%

(e) 76%
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Q13. Ifg a¥ 2016 H 20% FHATRY AT 31T, A 2016 F HAwTel IR AT FoATTRAT
TEIAT et &, (I8 G = & & Aerer oet et & Afgensit fr g, ferer v
IS T HEAT o ST §)?

(a) 85,500

(b) 1,05,000

() 95,000

(d) 92,500

(e) 378 & IS oTET

L1Difficulty 2

QTagsTable DI
QCreatorDeepak Rohilla




Q14.aY¥ 2012, 2013 3R 2016 H AR 2 HATRAT I TEAT, 3R g8 ani # Aera

Afger FATIRAT 1 T&IT & IF F71 3] AT HfaT)
(a) 4,40,900

(b) 5,50,000

(c) 6,55,000

(d) 7,65,000

(e) 5,24,000
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Q15. fohe ¥ 7, 7Y 3N AT =Rl & o<l 1 IR TUHcH 572
(a) 2011

(b) 2012

(c) 2014

(d) 2015

(e) 2016

L1Difficulty 2

QTagsTable DI

QCreatorDeepak Rohilla



Solutions

S1. Ans(b)

Sol.
Average medal won by india =?5+125:125+150 =%
=118.75
Average medal won by Australia = M %
=A8.75
~AT.Q

118.75-68.75 =50

S2.Ans (b)

Sol.
Total medals won by india in 2000, 2004 and 2008=75+125+125= 325
Total medals won by England in 2004 and 2008= 175 + 125 =300
~AT.Q

3Zn

200 % 100 =108.33 = 108( approx.)

S3.Ans (a)

Sol.

Total medals won by Australia in 2000,2004 and 2008 = 100 + 75 + 75 = 250
Total medals won by Sri Lanka in 2008 and 2012 = 300

~AT.Q

250:300

=5:6

S4. Ans (d)
Sol.

Total medals given in 2008 = 1254+75+125+125 = 450
Total medal given in year 2000 = 75+ 100+100+25 = 300

~ATQ

250300 o 100 =22 % 100 = 50 9%
300 300

S5.Ans (c)

Sol.

Total medals given in 2000 = 75+100+100+25 = 300

Total medals given in 2004 = 1254754175450 =425

Total medals given in 2008 = 125+75+125+125 =450

Total medal given in 2012 =1504+25+75+175 =425

~ATQ

Total medal given in all the years = 300+ 425+ 450+ 425= 1600



S6. Ans (b)
Sol.

Required no. = 800 X o2 x 22 = gog
100 100

S7. Ans (c)

Sol.

Let total no. of votes cast in 2016 be x.
ATQ

30 25004+ xx

100

20— = 1000

1250+3x
—=* —1000
i—x = 2000 — 1250
x = 1000

S8. Ans (d)
Sol.

Total no. of valid votes in year 2014 = % ¥ 2500 = 1250

MNo. of valid votes of A in 2014 = 1250 — 650 = 600
So, required ratio = 600 : 650 = 12 : 13

S9. Ans (e)
Sol.

Total valid votes of year 2015 = % * 800 = 440

Let valid votes of A and B are 7x and 4x respectively.

7x + 4x = 440

11x = 440

x =40

So, required difference = 7x —4x = 3x =3 x 40 = 120

S10. Ans (b)
Sol.

Let no. of valid votes of A and B are 8x and 5x respectively.
So,8x — 5x = 3x = 225
So, total no. of valid votes = 13x = 975

Total no. of votes cast in 2016 = 975 X % = 1300

S11. Ans.(a)
Sol.



Required average no. of women employees

1 3 12
=—-X (— % 8,00,000 + —x EJEEJGDD)
2 10 25

= X (2,40,000 + 4,15,200)
=3,27,600

S12. Ans.(c)
Sol.

Women working in company in years 2012 and 2014 together
6 9

= (— * 8,50,000 + — x 9,8{},5{}{})
17 20

= 3,00,000 + 4,41,225
=7,41,225
741225

. Required percentage =
200000
= 92.65% =93% approx

* 100

S13. Ans.(d)
Sol.

The no. of woman employees who were rusticated
20 1

= ——x 9,25,000 X -
100 2

=92,500

S14. Ans.(a)
Sol.

Required difference

11 3 1 =] 2 1
=(£x 8,50,000 + 2 x 9,54,500 + 5 X 9,25,000 ) — (= X 8,50,000 + =X 9,54,500 + = X
9,25,000 )

= (5,50,000+ 5,72,700+ 4,62,500) - (3,00,000+3,81,800+ 4,62,500)
= 4,40,900

S15. Ans.(a)
Sol.



Difference in man and woman employees in year 2011

=723 + 8,00,000
{(7+3)

= 3,20,000

In year 2012= 222 % 8,550,000
(6+11)

= 2,50,000
(11-9)

In year 2014 = X 9,80,500 = 98,050
(9+11)

In rest years difference of ratio looks smaller than the
above data calculated
~ maximum difference is in year = 2011



